KEBRA WX

o om R 24 AR
ok M R 51 Bkt
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3A 9 #
1 % i ] 0 0 0 0 0 0 0 0 0 0 0 0 0 f&/me
2|k 5 & L3 Rt N T ER 3 A R A R A A ERI 3 A ER i3
p K v AR GZ O G 0. 0003 - - 0.0003 - - 0. 0003 - - 0. 0003 - - 0.0003 me/@
qk ;xR v o2 o oA B - - -|  0.00005 - - - - - - - -[  0.00005 mg/0
sle v v R wzE o a B - - - 0.001 - - - - - - - - 0.001 mg/0
[0 A R O (A< /] - - - 0.001 - - - - - - - - 0.001 mg/@
e # Rz oAy - - - 0.001 - - - - - - - - 0.001 mg/@
E] A (=R N (A< /) - - - 0.001 - - - - - - - - 0.001 mg/@
olv v v te w4ty B U kY T Y 0.001 - - 0.001 - - 0.001 - = 0.001 - - 0.001 mg/0
g 1 % 0.34 0.34 0.28 0.20 0.22 0.30 0.27 0.22 0.24 0.25 0.24 0.22 0.26 mg/0
1l » # vz o L & n - - - 0.08 - - - - - - - - 0.08 mg/0
2F v ErRvzoKE® - - - 0.02 - - - - - - - - 0.02 mg/0
JE] (LI S (A 7S - - - 0. 0002 - - - - - - - - 0.0002 mg/@
ui, 4 -4 %% >~ - - - 0. 0005 - - - - - - - - 0.0005 mg/@
15 ﬂ’/lzzfl/z z”;:;;f‘f/ 0.001 - - 0.001 - - 0.001 - - 0.001 - - 0.001 me/0
B[y 7 mom 2 2 v - - - 0.001 - - - - - - - - 0.001 mg/0
1F 73 7 8 0z F VY - - - 0.001 - - - - - - - - 0.001 mg/@
8|k Vs mRrF L - - - 0.001 - - - - - - - - 0.001 mg/@
19[~ v + v - - - 0.001 - - - - - - - - 0.001 mg/0
20(4i # i 0. 060 - - 0. 060 - - 0. 060 - - 0. 060 - - 0.060 me/@
21|17 vowm fE R 0. 002 - - 0.002 - - 0. 002 - - 0. 002 - - 0.002 me/@
2217 wm o wm & A A 0.001 - - 0.004 - - 0.011 - - 0.003 - - 0.005 me/@
23|y s w v W 0. 002 - - 0.003 - - 0. 006 - - 0. 002 - - 0.003 me/@
247 7T e E)nn gy 0. 001 - - 0.001 - - 0. 001 - - 0.001 - - 0.001 mg/0
25| 5 # i 0. 001 - - 0.001 - - 0.001 - - 0. 001 - - 0.001 me/@
26 b ) o~ w4y 0. 001 - - 0. 006 - - 0.013 - - 0. 004 - - 0.006 me/@
27| YV 7 m owm WO 0. 002 - - 0.003 - - 0. 008 - - 0. 003 - - 0.004 me/@
28|17 T wE Yy yww gy 0.001 - - 0.002 - - 0. 002 - - 0.001 - - 0.002 me/@
297 w ® &k A A 0.001 - - 0.001 - - 0.001 - - 0.001 - - 0.001 me/@
30|k A~ & T v F b K 0. 004 - - 0.004 - - 0. 004 - - 0. 004 - - 0.004 me/@
SIH 2 B B2 o b &Y - - - 0.01 - - - - - - - - 0.01 mg/0
RITVI=IAR BZ DAY 0. 005 - - 0.019 - - 0. 032 - - 0.012 - - 0.017 me/@
B K B oAy 0.01 - - 0.01 - - 0.01 - - 0.01 - - 0.01 mg/
U B K x oL a Wy - - - 0.001 - - - - - - - - 0.001 mg/@
BIFMITAR T ZE DAY - - - 5.59 - - - - - - - - 5.59 mg/0
6|vvh VR ZEOLAY - - - 0.001 - - - - - - - - 0.001 mg/@
R E A (A 7 G S 13.4 11.0 9.6 8.1 9.2 10.6 9.1 8.1 8.0 7.7 7.8 7.3 9.2 mg/0
38My YL v Ay LA () - - - 22.9 - - - - - - - - 22.9 meg/0
9fE ® O ® ® 0® - - - 62 - - - - - - - - 62 mg/0
40(k A A > Fod IS M A - - - 0.02 - - - - - - - - 0.02 mg/0
a1y = 423y - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -[ 0.000001 mg/0
4202 FF WA KT W R A=W - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -[ 0.000001 mg/0
4319 A A& v R i I Mk A 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 - - 0.005 me/@
“l7 = s = A H - - - 0. 0005 - - - - - - - - 0.0005 mg/@
45|47 ¥ 17 £ 0.8 0.6 0.7 0.7 0.9 1.1 1.0 1.2 1.1 1o 0.9 0.6 0.9 mg/0
46 PHfi 7.5 7.4 7.1 7.4 7.5 7.5 7.4 7.5 7.5 7.3 7.4 7.3 7.4
47 LS RERLl REARL[ RERLU[ RBEAL[ REWAU| ®EAeL| BWAeL| RBEel| REel| REAaL| REAsL|] REsL|] REALL
48| % RAlORERL[ REARL[ REEAL[ REAL| BWAeL| RBEAeL| ®EeL| BEAeL| REeL| REAL|] REARL| REARL] REARL
49|t 43 0 0 0 0 0 0 0 0 0 0 0 0 0
50/ 4 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 J&E
7% # i # 0.72 0. 80 0.80 0. 67 0. 67 0.92 0. 82 0.98 0.75 0.80 0. 80 0. 80 0.79 meg/0
X DEGIIE
5 & RERLl RERLl REARL[ REARL[ REAL[ ®EAL| BWAel| RBEAel| R®Eel| REAeL| REAsL| REAsL|] RERL
;ﬁ wo RERLl REARLl REARL[ REARL[ REAL| REAL| BWAel| RBEAel| R®Eel| REAeL| REAsL|] REAsL] REARL
z WHHOTER AR GRRHH) 0.77 0. 80 0.80 0. 80 0. 80 0. 80 0.80 0.80 0. 80 0.80 0. 80 0. 80 0.80 mg/@




KEBRA WX

o om R 24 AR
ok R 5 1R AR AR A
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3A I #
1 % i ] 0 0 0 0 0 0 0 0 0 0 0 0 0 fE/me
2|k 5 [ L3 Rt N T EN i N NS N Rt Rt N N N ENi
3p K v AR GZ O G 0. 0003 - - 0.0003 - - 0. 0003 - - 0. 0003 - - 0.0003 me/0
qk mor v o2 o oA B - - -|  0.00005 - - - - - - - -[  0.00005 mg/0
sle v v R vz oramn - - - 0.001 - - - - - - E - 0.001 mg/0
[ A B N (A< /] - - - 0.001 - - - - - - - - 0.001 mg/@
e # xRz oAy - - - 0.001 - - - - - - - - 0.001 mg/@
gl Ml 7 v Ak B W - - - 0.001 - - - - - - - - 0.001 mg/@
oy rvte w4ty B U kY T Y 0.001 - - 0.001 - - 0.001 - = 0.001 - - 0.001 mg/0
g 1 % 0.35 0.33 0.31 0.21 0.24 0.29 0.27 0.22 0.24 0.25 0.24 0.23 0.27 mg/0
1l » # vz o L & n - - - 0.08 - - - - - - - - 0.08 mg/0
12 v % r vz o rwamn - - - 0.02 - - - - - - - - 0.02 mg/0
JE] LIS A /S - - - 0. 0002 - - - - - - - - 0.0002 mg/@
ui, 4 -4 x4 v - - - 0. 0005 - - - - - - - - 0.0005 mg/@
15 ﬂ’/lzzfl/z z”;:;;f‘f/ 0.001 - - 0.001 - - 0.001 - - 0.001 - - 0.001 me/0
B[y 7 mom 2 & v - - - 0.001 - - - - - - - - 0.001 mg/0
1F 73 7 8 0oz F vy - - - 0.001 - - - - - - - - 0.001 mg/@
8|k Vs mRrF L - - - 0.001 - - - - - - - - 0.001 mg/@
19[~ v + v - - - 0.001 - - - - - - - - 0.001 mg/0
20|41 # i 0. 060 - - 0. 060 - - 0. 060 - - 0. 060 - - 0.060 me/@
2117 9w owm EE R 0. 002 - - 0.002 - - 0. 002 - - 0. 002 - - 0.002 me/@
2217 wm wm & A A 0.001 - - 0. 008 - - 0.018 - - 0. 007 - - 0.009 me/@
23|y s w v W 0. 002 - - 0.004 - - 0. 008 - - 0. 004 - - 0.005 me/@
241 7 vt )owthy 0. 001 - - 0.001 - - 0. 001 - - 0.001 - - 0.001 meg/0
25| 5 # i 0. 001 - - 0.001 - - 0.001 - - 0. 001 - - 0.001 me/@
26 b ) o~ w4y 0. 002 - - 0.011 - - 0. 021 - - 0. 009 - - 0.011 me/@
27| YV 7 m owm WO 0. 002 - - 0. 006 - - 0.014 - - 0. 006 - - 0.007 me/@
28|17 T w Ty yww gy 0.001 - - 0.003 - - 0. 003 - - 0. 002 - - 0.002 me/@
297 w ® K A A 0.001 - - 0.001 - - 0.001 - - 0. 001 - - 0.001 me/@
30|k A & T L F b K 0. 004 - - 0.004 - - 0. 004 - - 0. 004 - - 0.004 me/@
SIH 2 B B2 o b &Y - - - 0.01 - - - - - - - - 0.01 mg/0
RITVI=IAR BZ DAY 0. 005 - - 0.017 - - 0. 030 - - 0.010 - - 0.016 mg/0
Bk K B oL a Wy 0. 02 - - 0.01 - - 0.03 - - 0.03 - - 0.02 mg/
U B Kz o b A&y - - - 0.001 - - - - - - - - 0.001 mg/@
BIFMITAR T ZE DAY - - - 5.38 - - - - - - - - 5.38 mg/0
6|v T VR ZEOLAY - - - 0.001 - - - - - - - - 0.001 mg/@
RYd T A 7/ B G S 13.2 11.0 9.6 8.1 9.2 10.8 9.2 8.1 7.8 7.7 8.1 7.3 9.2 mg/0
38My YL R Ay LA () - - - 22.1 - - - - - - - - 22.1 mg/0
9fE ¥ O ® ® w - - - 54 - - - - - - - - 54 mg/0
40(k A A > S IS M A - - - 0.02 - - - - - - - - 0.02 mg/0
a1y = 4 23y - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
4202- FF W AD KT MR =W - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
4319 A A4 v Wi I Mk A 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 - - 0.005 me/@
“l7z = s = N H - - - 0. 0005 - - - - - - - - 0.0005 mg/@
45|41 s 17 % 0.8 0.6 0.7 0.7 0.8 1.1 1.0 1.2 1.0 1o 0.9 0.6 0.9 mg/0
46 PHf 7.3 7.4 7.5 7.5 7.5 7.5 7.5 7.5 7.4 7.3 7.4 7.3 7.4
47 LS RERLl REARL[ RERLU[ RBEAL[ REWAU| ®EAeL| BWAeL| RBEel| REel| REAaL| REAsL|] REsL|] REALL
48| 5% RAlORERLU[ REARL[ REAL[ REAL| BWAeL| RBEAeL| ®EeL| BEAeL| REeL] REAsL|] REARL| REARL| REARL
49|t 43 0 0 0 0 0 0 0 0 0 0 0 0 0
50/ B 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 J&E
7% # i # 0.53 0. 56 0.51 0.57 0.48 0. 56 0. 63 0.65 0.35 0.58 0.54 0.55 0.54 mg/0
X DEGIIE
5 & RERLl RERLl REARL[ REARL[ REAL[ ®EAL| BWAel| RBEAel| R®Eel| REAeL| REAsL| REAsL|] RERL
;ﬁ wh RERLl REARLl REARL[ REARL[ REAL| REAL| BWAel| RBEAel| R®Eel| REAeL| REAsL|] REAsL] REARL
z WHHOTER AR GRRIHR) 0.53 0.53 0.51 0. 50 0.37 0.45 0.45 0.54 0. 57 0.58 0.54 0.55 0.51 mg/@




KEBRA WX

OB FE Wk 24 AEE
7N N N~ 5 2 Bk
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3A 9 #
1 i il [ 0 0 0 0 0 0 0 0 0 0 0 0 0 {E/mo
2|k 15 [} T AR ER 3 A ER 3 A R A R A A ERI 3 A ER i3
sfp ks varvzowaw - - 0. 0003 - - 0. 0003 - - 0. 0003 - - 0. 0003 0.0003 me/0
ax ® 2 2 0 w8 ow - - - - -l 0.00005 - - - - - -l 0.00005 mg/0
sl v vk vz ok a - - - - - 0. 001 - - - - - - 0.001 mg/0
6lih & T o L AW - - - - - 0. 001 - - - - - - 0.001 mg/0
Ne R T2 Ol - - - - - 0. 001 - - - - - - 0.001 mg/0
gl Ml 2 7 Ak A& W - - - - - 0.001 - - - - - - 0.001 mg/@
oy 7yt (4 o i fe Y 7 - - 0. 001 - - 0. 001 - - 0. 001 - - 0. 001 0.001 mg/0
i B 0.36 0.33 0.29 0.19 0.24 0.29 0.27 0.23 0. 24 0.25 0. 24 0.23 0.26 mg/0
1l » # vz o L & n - - - - - 0. 08 - - - - - - 0.08 mg/0
2F v ErR vz e ® - - - - - 0.02 - - - - - - 0.02 mg/0
B R # - - - - - 0. 0002 - - - - - - 0.0002 me/0
ur, 4— v F x4 - - - - - 0. 0005 - - - - - - 0.0005 me/0
15 ﬂ’/lzzfl/z z”;:;;f‘f)/ - - 0.001 - - 0.001 - - 0.001 - - 0.001 0.001 me/0
B[y 7 mom 2 & v - - - - - 0.001 - - - - - - 0.001 mg/@
wi v s e e 2 gy - - - - - 0. 001 - - - - - - 0.001 mg/0
8|Fh YV 7 mrxF Ly - - - - - 0. 001 - - - - - - 0.001 mg/0
19[~ v + v - - - - - 0.001 - - - - - - 0.001 mg/0
204 # 2| - - 0. 060 - - 0. 06 - - 0. 060 - - 0. 060 0.060 mg/0
217 =m0 om W B - - 0. 002 - - 0. 002 - - 0. 002 - - 0. 002 0.002 me/0
27 v o= &k A 4 - - 0. 005 - - 0.011 - - 0. 007 - - 0. 002 0.006 mg/0
28ly v = v oW B - - 0.003 - - 0. 007 - - 0. 004 - - 0. 002 0.004 mg/0
oaly © 7w E e gy - - 0.001 - - 0. 001 - - 0. 001 - - 0. 001 0.001 mg/0
25[5 # 2| - - 0. 001 - - 0. 001 - - 0. 001 - - 0. 001 0.001 mg/0
F1G] £ S A N S A - - 0.007 - - 0.013 - - 0. 009 - - 0.003 0.008 mg/0
27k v 2 o om e R - - 0.003 - - 0. 009 - - 0. 007 - - 0. 002 0.005 mg/0
287 e x vy yww gy - - 0.002 - - 0. 002 - - 0. 002 - - 0. 001 0.002 me/0
297 = = kA & - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/0
B A S S - - 0.004 - - 0. 004 - - 0. 004 - - 0. 004 0.004 mg/0
1fHE $n K ' o L AW - - - - - 0.01 - - - - - - 0.01 mg/0
Rlviziircrokaem - - 0.019 - - 0. 028 - - 0. 021 - - 0.011 0.020 mg/0
KX 3 BN R (A 7] - - 0.01 - - 0. 01 - - 0.01 - - 0.01 0.01 mg/0
3l K * z oL A& W - - - - - 0. 001 - - - - - - 0.001 mg/0
S5[F U AR B E DAY - - - - - 7.31 - - - - - - 7.31 mg/0
36lvvh VR BE OB - - - - - 0. 001 - - - - - - 0.001 mg/0
37l b w4 A v 13.4 10.8 10.1 8.0 9.3 10.6 9.2 8.2 7.8 8.2 8.1 7.4 9.3 mg/0
38[nvy oL vy oL () - - - - - 319 - - - - - - 31.9 mg/0
9fE ® O ® ® w - - - - - 76 - - - - - - 76 mg/0
Q0| 4 A v R M A - - - - - 0. 02 - - - - - - 0.02 mg/0
P51 P2 N S - - -| 0.000001| 0.000001] 0.000001| 0.000001 - - - - - 0.000001 me/0
ale-r s vty s vat-w - - -| 0.000001| 0.000001] 0.000001| 0.000001 - - - - - 0.000001 me/0
43|19k 4 A v R A - - 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 0.005 me/0
w7z = s — o - - - - - 0. 0005 - - - - - - 0.0005 me/0
45(4 1 17} s 0.8 0.7 0.8 0.7 0.8 11 1.0 1.2 11 1.0 0.9 0.6 0.9 mg/0
46 PHIE 7.5 7.4 7.1 7.5 7.5 7.5 7.5 7.5 7.5 7.3 7.4 7.3 7.4
47 S WLl BEaL| RElL| BEEAL[ BEARL| BEAeL| BEaL| BEAeL] BEWiaL| BEAL] BEleL| BEaLl BEsL
485 RAlORERL[ REARL[ REEAL[ RWAL| BWAeL| RBEAeL| ®EeL| REAeL| REel] REAsL] REARL|] REARL] REALL
19|t i3 0 0 0 0 0 0 0 0 0 0 0 0 0 JE
50| i3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 Jig
7% o i # 0.72 0.80 0.70 0.78 0.69 0.74 0.94 0.86 0.79 0.80 0.80 0.80 0.79 mg/0
X DEGIIE
P & Ul BEaL| REARL|] BEEaLl RBEAL| REARL| BEaU| BEAL] BWiU| BEAL| RELL|] BEAaLl BEALL
;ﬁ- Y B U| BEaL| REAL|] BEEaLl BEAL| BEARL| BEaL| BEAL] BWieU| BEAL| RELL| BEAaLl BEALL
B ko R 0.72 0.80 0.74 0.80 0.80 0.80 0.80 0.80 0.80 0.80 0.80 0.80 0.79 mg/0




KEBRA WX

OB FE Wk 24 AEE
7N N N~ 5 2 BlK Hh R AR K ke
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3 A 9 #
1 i il [ 0 0 0 0 0 0 0 0 0 0 0 0 0 {E/mo
2|k 15 [} T AR ER 3 A ER 3 A R A R A A ERI 3 A ER i3
sfp ks varvzowaw - - 0. 0003 - - 0. 0003 - - 0. 0003 - - 0. 0003 0.0003 me/0
ax ® 2 2 0 w8 ow - - - - -l 0.00005 - - - - - -l 0.00005 mg/0
sl v vk vz ok a - - - - - 0. 001 - - - - - - 0.001 mg/0
6lih & T o L AW - - - - - 0. 001 - - - - - - 0.001 mg/0
Ne R T2 Ol - - - - - 0. 001 - - - - - - 0.001 mg/0
gl Ml 2 7 Ak A& W - - - - - 0.001 - - - - - - 0.001 mg/@
ol 1yt m oty v ey - - 0. 001 - - 0. 001 - - 0. 001 - - 0. 001 0.001 mg/0
LT 0.33 0.32 0.33 0.23 0.29 0.30 0.28 0.23 0.23 0.25 0.25 0.23 0.27 mg/0
17 » # 2 v 2 o & & » - - - - - 0.08 - - - - E - 0.08 mg/0
120 v % 2 ¢z o k& - - - - - 0.02 - - - - - - 0.02 mg/0
B R # - - - - - 0. 0002 - - - - - - 0.0002 me/0
ur, 4— v F x4 - - - - - 0. 0005 - - - - - - 0.0005 me/0
15 ﬂ’/lzzfl/z z”;:;;f‘f)/ - - 0.001 - - 0.001 - - 0.001 - - 0.001 0.001 me/0
B[y 7 mom 2 & v - - - - - 0.001 - - - - - - 0.001 mg/@
wi v s e e 2 gy - - - - - 0. 001 - - - - - - 0.001 mg/0
8|Fh YV 7 mrxF Ly - - - - - 0. 001 - - - - - - 0.001 mg/0
19 v € 2 - - - - - 0. 001 - - - - - - 0.001 mg/0
204 # 2| - - 0. 060 - - 0. 06 - - 0. 060 - - 0. 060 0.060 mg/0
217 =m0 om W B - - 0. 002 - - 0. 002 - - 0. 002 - - 0. 002 0.002 me/0
27 v o= &k A 4 - - 0.008 - - 0.015 - - 0.016 - - 0.003 0.011 mg/0
28ly v = v oW B - - 0. 004 - - 0.010 - - 0. 009 - - 0. 002 0.006 mg/0
oaly © 7w E e gy - - 0.001 - - 0. 001 - - 0. 001 - - 0. 001 0.001 mg/0
25[5 # 2| - - 0. 001 - - 0. 001 - - 0. 001 - - 0. 001 0.001 mg/0
F1G] £ S A N S A - - 0.011 - - 0.018 - - 0. 020 - - 0. 004 0.013 me/0
27k v 2 o om e R - - 0. 004 - - 0.013 - - 0.012 - - 0. 002 0.008 me/0
287 e x vy yww gy - - 0.003 - - 0. 003 - - 0. 004 - - 0. 001 0.003 mg/0
297 = = kA & - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/0
B A S S - - 0.004 - - 0. 004 - - 0. 004 - - 0. 004 0.004 mg/0
1fHE $n K ' o L AW - - - - - 0.01 - - - - - - 0.01 mg/0
Rlviziircrokaem - - 0. 009 - - 0.018 - - 0.017 - - 0.010 0.014 mg/0
KX 3 BN R (A 7] - - 0.01 - - 0. 01 - - 0.01 - - 0.01 0.01 mg/0
3l K * z oL A& W - - - - - 0. 006 - - - - - - 0.006 mg/0
S5[F U AR B E DAY - - - - - 7.19 - - - - - - 7.19 mg/0
36lvvh VR BE OB - - - - - 0. 001 - - - - - - 0.001 mg/0
37l b w4 A v 12.2 1.1 9.8 8.5 9.4 10.9 9.1 8.5 7.5 7.6 8.6 7.3 9.2 mg/0
38[nvy oL vy oL () - - - - - 319 - - - - - - 31.9 mg/0
9fE ® O ® ® w - - - - - 79 - - - - - - 79 mg/0
Q0| 4 A v R M A - - - - - 0. 02 - - - - - - 0.02 mg/0
P51 P2 N S - - -| 0.000001| 0.000001] 0.000001| 0.000001 - - - - - 0.000001 me/0
ale-r s vty s vat-w - - -| 0.000001| 0.000001] 0.000001| 0.000001 - - - - - 0.000001 me/0
43|19k 4 A v R A - - 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 0.005 me/0
wulz = s - o oHE - - - - - 0. 0005 - - - - - - 0.0005 me/0
45(4 1 17} s 0.8 0.6 0.7 0.7 0.9 11 11 1.1 11 1.0 0.9 0.6 0.9 mg/0
46 PHIE 7.2 7.0 7.0 7.1 7.1 7.2 7.0 7.1 7.0 7.1 7.2 7.3 7.1
47 S WLl BEaL| RElL| BEEAL[ BEARL| BEAeL| BEaL| BEAeL] BEWiaL| BEAL] BEleL| BEaLl BEsL
485 RAlORERL[ REARL[ REEAL[ RWAL| BWAeL| RBEAeL| ®EeL| REAeL| REel] REAsL] REARL|] REARL] REALL
49 ¢ i3 0 0 0 0 0 0 0 0 0 0 0 0 0 JE
50| i3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 Jig
7% o i # 0.41 0. 41 0.39 0.56 0.44 0.52 0.54 0.58 0. 40 0.45 0.47 0.48 0.47 mg/0
X DEGIIE
m = Ul BEaL| REARL|] BEEaLl RBEAL| REARL| BEaU| BEAL] BWiU| BEAL| RELL|] BEAaLl BEALL
;ﬁ Y B U| BEaL| REAL|] BEEaLl BEAL| BEARL| BEaL| BEAL] BWieU| BEAL| RELL| BEAaLl BEALL
B ko R 0.41 0. 41 0.39 0. 44 0.41 0. 44 0. 44 0.43 0. 44 0.45 0.47 0.48 0.43 ng/0
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o om R 24 AR
ok R i R ECK LT AR AR AR (GEIRETILS})
4 A 54 61 7H 8 A 9A 10A 114 124 1A 2A 3A I #
11— i i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {E/me
2|k 1 [ L3 Rt ER 3 T ER 3 A R A R A A ERI 3 A ER i3
3P KV ARG EZOLEND 0. 0003 - - 0. 0003 - - 0. 0003 - - 0. 0003 - - 0.0003 mg/0
Wk # B ¥ 2 0 & & Y - - - - - -l 0.00005 - - - - -|  0.00005 mg/0
sl v v r v E ok a - - - - - - 0. 001 - - - - - 0.001 mg/0
6lfh X = o b & Y - - - - - - 0. 001 - - - - - 0.001 mg/0
NMe #F X % oL a&? - - - - - - 0. 001 - - - - - 0.001 mg/0
g[A fli 7 m A fL B W - - - - - - 0.001 - - - - - 0.001 mg/@
oy rvte w4ty B U kY T Y 0.001 - - 0.001 - - 0.001 - = 0.001 - - 0.001 mg/0
[CE £ K 0.31 0.34 0.31 0.19 0.23 0.30 0.28 0.23 0.23 0.25 0.25 0.23 0.26 mg/0
17 » # 2 v 2 o & & » - - - - - - 0.08 - - - E - 0.08 mg/0
120 v % B¢z ok é& - - - - - - 0. 02 - - - - - 0.02 mg/0
130 i 1t 74 ES - - - - - - 0. 0002 - - - - - 0.0002 mg/0
i, 4 — v A4 x4 v - - - - - - 0. 0005 - - - - - 0.0005 mg/0
15 ﬂ’/lzzfl/z z”;:;;f‘f/ 0.001 - - 0.001 - - 0.001 - - 0.001 - - 0.001 me/0
B[y 7 mom 2 & v - - - - - - 0.001 - - - - - 0.001 mg/0
1717 v 7 7m0z F Vv - - - - - - 0. 001 - - - - - 0.001 mg/0
18|V 7 mrxF L - - - - - - 0. 001 - - - - - 0.001 mg/0
19[~ v + v - - - - - - 0.001 - - - - - 0.001 mg/0
20|4i ES [id 0. 060 - - 0. 060 - - 0. 060 - - 0. 060 - - 0.060 mg/0
21(7 = = E [id 0.002 - - 0. 002 - - 0.002 - - 0. 002 - - 0.002 mg/0
2217 m o oom oK A 0. 003 - - 0.010 - - 0. 024 - - 0.010 - - 0.012 mg/0
23 7 nooo fEO 0. 002 - - 0. 005 - - 0.011 - - 0. 006 - - 0.006 mg/0
241 7 vt )owthy 0. 001 - - 0.001 - - 0.001 - - 0.001 - - 0.001 meg/0
25(5 ES [id 0.001 - - 0.001 - - 0. 001 - - 0.001 - - 0.001 mg/0
268 b ) o~ p oy 0. 006 - - 0.013 - - 0.028 - - 0.013 - - 0.015 mg/0
27|V 7w m R 0.003 - - 0.007 - - 0.016 - - 0. 009 - - 0.009 mg/0
287 mEY T Joownp oy 0. 002 - - 0. 003 - - 0. 004 - - 0.003 - - 0.003 mg/0
297 v = K A A 0. 001 - - 0.001 - - 0. 001 - - 0.001 - - 0.001 mg/0
0[(x v A 7 v F e K 0. 004 - - 0.004 - - 0. 004 - - 0. 004 - - 0.004 mg/0
SIH 2 B B2 o b &Y - - - - - - 0.01 - - - - - 0.01 mg/0
Rk EOAEY 0. 005 - - 0.015 - - 0.028 - - 0.010 - - 0.015 mg/0
3B K O ok AW 0.01 - - 0.01 - - 0.01 - - 0.01 - - 0.01 mg/0
Ul K 0 A& WY - - - - - - 0.003 - - - - - 0.003 mg/0
BIFMITAR T ZE DAY - - - - - - 6. 46 - - - - - 6.46 mg/0
36lvvr T v RUOZEOLED - - - - - - 0. 001 - - - - - 0.001 mg/0
37| ok w4 A v 12.1 11.2 9.7 8.1 9.3 10.3 9.0 8.2 7.8 7.8 7.9 7.4 9.1 meg/0
38|y Ih TRy oL () - - - - - - 28.5 - - - - - 28.5 mg/0
9fE ¥ O ® ® w - - - - - - 50 - - - - - 50 mg/0
40(k A A > S IS M A - - - - - - 0.02 - - - - - 0.02 mg/0
a1y E Y T - - -| 0.000001| 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
a202- 2 F v A0 KT W R E - - - -| 0.000001]| 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
A3(9 A A4 v HomE iE M A 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 - - 0.005 mg/0
47 = 7 = A H - - - - - - 0. 0005 - - - - - 0.0005 mg/0
45| % t7) % 0.8 0.6 0.7 0.7 0.9 1.1 1.0 1.2 1.1 1.0 1.0 0.7 0.9 mg/0
46 PHfi. 7.3 7.4 7.4 7.4 7.4 7.3 7.3 7.4 7.3 7.3 7.3 7.3 7.3
47 LS RERLl REARL[ RERLU[ RBEAL[ REWAU| ®EAeL| BWAeL| RBEel| REel| REAaL| REAsL|] REsL|] REALL
48| % RAlORERLU[ REARL[ REAL[ REAL| BWAeL| RBEAeL| ®EeL| BEAeL| REeL] REAsL|] REARL| REARL| REARL
49| L3 0 0 0 0 0 0 0 0 0 0 0 0 0
50| B 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 J&
7% o i F# 0.56 0.48 0.49 0.54 0.44 0.54 0.55 0.63 0. 55 0.52 0.48 0.56 0.53 mg/0
X DEGIIE
5 & RERLl RERLl REARL[ REARL[ REAL[ ®EAL| BWAel| RBEAel| R®Eel| REAeL| REAsL| REAsL|] RERL
;ﬁ wh RERLl REARLl REARL[ REARL[ REAL| REAL| BWAel| RBEAel| R®Eel| REAeL| REAsL|] REAsL] REARL
# OB RN FREIH) 0.55 0.48 0.49 0. 50 0.41 0.52 0.49 0.49 0.45 0.52 0.48 0.56 0.50 mg/0




KEBRA WX

o om R 24 AR
ook R SEWEPERL KT ARAR AR (GEHEHE P HT)
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3 A 9 #
1 % i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {E/mo
2|k 5 [ L3 Rt N T EN i N NS N Rt Rt N N N R
3 FI v AR GZ O G - - 0. 0003 - - 0. 0003 - - 0. 0003 - - 0. 0003 0.0003 meg/0
4k ;B U2 o f b B - -|  0.00005 - - - - - - - - -l 0.00005 mg/0
sle v v Rz oo a B - - 0. 001 - - - - - - - - - 0.001 mg/0
6lsn B 2 o L AW - - 0. 001 - - - - - - - - - 0.001 mg/@
e # Rz oAy - - 0. 001 - - - - - - - - - 0.001 mg/@
] AN A= VAR (A .7 - - 0. 001 - - - - - - - - - 0.001 mg/@
oy 7yt ks kv sy 7Y - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/@
g 1 % 0.35 0.32 0.31 0.19 0.24 0.30 0.28 0.23 0.23 0.25 0.26 0.24 0.27 me/0
17 » # x vz ot &2 0 - - 0.08 - - - - - - - - - 0.08 mg/0
12k v %R vz ok n - - 0.02 - - - - - - - - - 0.02 mg/0
JE] LIS A /S - - 0. 0002 - - - - - - - - - 0.0002 meg/0
ui, 4 -4 x4 » - - 0. 0005 - - - - - - - - - 0.0005 meg/0
15 ﬂ’/lzzfl/z z”;j;;f‘f)/ - - 0.001 - - 0.001 - - 0.001 - - 0.001 0.001 me/0
B[y 7 mom 2 & v - - 0. 001 - - - - - - - - - 0.001 mg/0
1F + 73 7 80z F vy - - 0. 001 - - - - - - - - - 0.001 mg/0
8|k Vs mRF L - - 0. 001 - - - - - - - - - 0.001 mg/@
19~ v + v - - 0.001 - - - - - - - - - 0.001 mg/0
20(4i # i - - 0. 060 - - 0. 060 - - 0. 060 - - 0. 060 0.060 meg/0
2117 9w  owm EE Rk - - 0. 002 - - 0.002 - - 0. 002 - - 0. 002 0.002 mg/0
27 v v & A 4 - - 0. 007 - - 0.017 - - 0.011 - - 0. 003 0.010 mg/0
23|y s w v W - - 0. 004 - - 0.008 - - 0. 005 - - 0. 002 0.005 meg/0
2uly 7w r e ey - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/0
25| 5 # i - - 0. 001 - - 0.001 - - 0.001 - - 0. 001 0.001 mg/0
26l b ) o~ w4y - - 0.010 - - 0. 020 - - 0.014 - - 0. 004 0.012 mg/@
27| Y 7 m om WO - - 0. 004 - - 0.012 - - 0. 009 - - 0. 003 0.007 mg/0
28]7 T wE YV T ywon g hy - - 0.003 - - 0.003 - - 0. 003 - - 0. 001 0.003 mg/0
297 w ' K A A - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/0
301k v & T v F v K - - 0. 004 - - 0.004 - - 0. 004 - - 0. 004 0.004 mg/0
1fHE $n R ' o L AW - - 0.01 - - - - - - - - - 0.01 mg/0
RITVI=IAR B Z DAY - - 0.015 - - 0.027 - - 0.018 - - 0. 009 0.017 mg/0
KR B O O (A /] - - 0.01 - - 0.01 - - 0. 02 - - 0.01 0.01 mg/0
g x » x o L A B - - 0. 002 - - - - - - - - - 0.002 mg/@
S5[F UL R B E DAY - - 6.10 - - - - - - - - - 6.10 mg/0
6|v VR ZEOLAY - - 0. 001 - - - - - - - - - 0.001 mg/@
RYd T A 7 B G S 12.7 1.1 9.8 8.2 9.4 10.8 9.3 8.5 7.7 7.8 8.4 7.4 9.3 mg/0
38|M Ay L T Ay YRS () - - 23.2 - - - - - - - - - 23.2 mg/0
9fE ¥ O ® ®B ® - - 49 - - - - - - - - - 49 mg/0
4082 A A4 v R i I M A - - 0. 02 - - - - - - - - - 0.02 mg/0
a1y = 4 23y - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
4202- FF WA KT MR =W - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
ZRIECE G I T ] - - 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 0.005 meg/0
“l7 = s = N H - - 0. 0005 - - - - - - - - - 0.0005 meg/0
45|47 ¥ 17 £ 0.8 0.6 0.7 0.7 0.9 1.1 11 1.2 1.1 1o 0.9 0.6 0.9 mg/0
46 PHf 7.4 7.5 7.7 7.7 7.8 7.6 7.7 7.7 7.6 7.4 7.4 7.4 7.6
47 LS RERLl REARL[ RERLU[ RBEAL[ REWAU| ®EAeL| BWAeL| RBEel| REel| REAaL| REAsL|] REsL|] REALL
48| 5% K| OBmEAL| BEAL|] BEAL] REALl REAeL| BEAU| BWAl| BEAL| BEaL| BEaLl BEaLl REAel| BEaL
49|t 4 0 0 0 0 0 0 0 0 0 0 0 0 0
50/ 4 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 Ji
7% # oo ES 0.63 0.45 0.49 0.52 0.70 0. 68 0.57 0.72 0. 60 0.74 0.72 0.73 0.63 mg/0
X DEGIIE
5 = RERLl RERLl REARL[ REARL[ REAL[ ®EAL| BWAel| RBEAel| R®Eel| REAeL| REAsL| REAsL|] RERL
% wh RERLl REARLl REARL[ REARL[ REAL| REAL| BWAel| RBEAel| R®Eel| REAeL| REAsL|] REAsL] REARL
B ko e R 0.64 0.45 0.49 0. 56 0. 49 0.59 0.63 0.67 0.70 0.74 0.72 0.73 0.62 mg/0




KEBRA WX

o om R 24 AR
ook R T3 FEK M ARAG AR (5 F3H0T)
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3 A 9 #
1 % i i 0 0 0 0 0 0 0 0 0 0 0 0 0 {E/mo
2|k 5 [ L3 Rt N T EN i N NS N Rt Rt N N N R
3 FI v AR GZ O G - - 0. 0003 - - 0. 0003 - - 0. 0003 - - 0. 0003 0.0003 meg/0
4k ;B U2 o f b B - -|  0.00005 - - - - - - - - -l 0.00005 mg/0
sle v v Rz oo a B - - 0. 001 - - - - - - - - - 0.001 mg/0
6lsn B 2 o L AW - - 0. 001 - - - - - - - - - 0.001 mg/@
e # Rz oAy - - 0. 001 - - - - - - - - - 0.001 mg/@
] AN A= VAR (A .7 - - 0. 001 - - - - - - - - - 0.001 mg/@
oy 7yt ks kv sy 7Y - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/@
g 1 % 0.30 0.32 0.32 0.20 0.25 0.30 0.28 0.23 0.24 0.25 0.26 0.24 0.27 me/0
17 » # x vz ot &2 0 - - 0.08 - - - - - - - - - 0.08 mg/0
12k v %R vz ok n - - 0.02 - - - - - - - - - 0.02 mg/0
JE] LIS A /S - - 0. 0002 - - - - - - - - - 0.0002 meg/0
ui, 4 -4 x4 » - - 0. 0005 - - - - - - - - - 0.0005 meg/0
15 ﬂ’/lzzfl/z z”;j;;f‘f)/ - - 0.001 - - 0.001 - - 0.001 - - 0.001 0.001 me/0
B[y 7 mom 2 & v - - 0. 001 - - - - - - - - - 0.001 mg/0
1F + 73 7 80z F vy - - 0. 001 - - - - - - - - - 0.001 mg/0
8|k Vs mRF L - - 0. 001 - - - - - - - - - 0.001 mg/@
19~ v + v - - 0.001 - - - - - - - - - 0.001 mg/0
20(4i # i - - 0. 060 - - 0. 060 - - 0. 060 - - 0. 060 0.060 meg/0
2117 9w  owm EE Rk - - 0. 002 - - 0.002 - - 0. 002 - - 0. 002 0.002 mg/0
27 v v & A 4 - - 0. 008 - - 0.019 - - 0.013 - - 0. 005 0.011 mg/0
23|y s w v W - - 0. 004 - - 0.007 - - 0. 006 - - 0. 003 0.005 meg/0
2uly 7w r e ey - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/0
25| 5 # i - - 0. 001 - - 0.001 - - 0.001 - - 0. 001 0.001 mg/0
26l b ) o~ w4y - - 0.011 - - 0.023 - - 0.016 - - 0. 007 0.014 mg/@
27| Y 7 m om WO - - 0. 005 - - 0.014 - - 0.012 - - 0. 005 0.009 meg/0
28]7 T wE YV T ywon g hy - - 0.003 - - 0.004 - - 0. 003 - - 0. 002 0.003 mg/0
297 w ' K A A - - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 0.001 mg/0
301k v & T v F v K - - 0. 004 - - 0.004 - - 0. 004 - - 0. 004 0.004 mg/0
1fHE $n R ' o L AW - - 0.01 - - - - - - - - - 0.01 mg/0
RITVI=IAR B Z DAY - - 0. 020 - - 0.028 - - 0. 022 - - 0.011 0.020 mg/0
KR B O O (A /] - - 0.01 - - 0.01 - - 0.01 - - 0.01 0.01 mg/0
g x » x o L A B - - 0. 003 - - - - - - - - - 0.003 mg/@
S5[F UL R B E DAY - - 6.17 - - - - - - - - - 6.17 mg/0
6|v VR ZEOLAY - - 0. 001 - - - - - - - - - 0.001 mg/@
RYd T A 7 B G S 1.0 1.1 9.7 8.2 9.5 10.9 9.5 8.6 7.7 7.8 8.0 7.4 9.1 mg/0
38|M Ay L T Ay YRS () - - 23.3 - - - - - - - - - 23.3 me/0
9fE ¥ O ® ®B ® - - 58 - - - - - - - - - 58 mg/0
4082 A A4 v R i I M A - - 0. 02 - - - - - - - - - 0.02 mg/0
a1y = 4 23y - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
4202- FF WA KT MR =W - - -| 0.000001[ 0.000001| 0.000001| 0.000001 - - - - -| 0.000001 mg/0
ZRIECE G I T ] - - 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 0.005 meg/0
“l7 = s = N H - - 0. 0005 - - - - - - - - - 0.0005 meg/0
45|47 ¥ 17 £ 0.8 0.6 0.7 0.7 0.8 1.1 1.0 1.2 1.1 1o 1.0 0.7 0.9 mg/0
46 PHf 7.4 7.4 7.6 7.7 7.8 7.6 7.7 7.6 7.6 7.4 7.4 7.5 7.6
47 LS RERLl REARL[ RERLU[ RBEAL[ REWAU| ®EAeL| BWAeL| RBEel| REel| REAaL| REAsL|] REsL|] REALL
48| 5% K| OBmEAL| BEAL|] BEAL] REALl REAeL| BEAU| BWAl| BEAL| BEaL| BEaLl BEaLl REAel| BEaL
49|t 4 0 0 0 0 0 0 0 0 0 0 0 0 0
50/ 4 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 Ji
7% # oo ES 0.54 0. 44 0.45 0. 47 0. 30 0.43 0.35 0. 44 0. 47 0.63 0. 62 0.65 0.48 mg/0
X DEGIIE
5 = RERLl RERLl REARL[ REARL[ REAL[ ®EAL| BWAel| RBEAel| R®Eel| REAeL| REAsL| REAsL|] RERL
% wh RERLl REARLl REARL[ REARL[ REAL| REAL| BWAel| RBEAel| R®Eel| REAeL| REAsL|] REAsL] REARL
B ko e R 0.54 0. 44 0.45 0.48 0.26 0.28 0.33 0.38 0. 49 0.63 0. 62 0.65 0.46 mg/0




KEBRA WX

[ S 4 Wk 24 AEE
7N N N~ ALK R AR AR (AEFTHEIE)
4 A 54 61 7H 8 A 9A 104 114 124 1A 2A 3 A 9 #
1 i il [ 0 0 0 0 0 0 0 0 0 0 0 0 0 {E/mo
2|k 15 [} T AR ER 3 A ER 3 A R A R A A ERI 3 A ER i3
sp s varvzowaw - 0. 0003 - - 0. 0003 - - 0. 0003 - - 0. 0003 - 0.0003 me/0
Wk # B 2 o & & Y - - - -l 0.00005 - - - - - - -|  0.00005 mg/0
sle v v r vz oramn - - - - 0. 001 - - - - - E - 0.001 mg/0
6lin & T o L AW - - - - 0. 001 - - - - - - - 0.001 mg/0
Ne #R 2Ol - - - - 0. 001 - - - - - - - 0.001 mg/0
] AN A= VAR (A .7 - - - - 0.001 - - - - - - - 0.001 mg/@
ol 1yt m s v ey 7 - 0. 001 - - 0. 001 - - 0. 001 - - 0. 001 - 0.001 mg/0
B 0.31 0.33 0.31 0.20 0.27 0.30 0.28 0.23 0.23 0.25 0.25 0.24 0.27 mg/0
17 » # 2 v 2 o & & » - - - - 0.08 - - - - - E - 0.08 mg/0
2FE v ErR vz e D - - - - 0.02 - - - - - - - 0.02 mg/0
B b R # - - - - 0. 0002 - - - - - - - 0.0002 me/0
ur, 4— v F x4 - - - - 0. 0005 - - - - - - - 0.0005 me/0
15 ﬂ’/lzzfl/z z”;j;;f‘f)/ - 0.001 - - 0.001 - - 0.001 - - 0.001 - 0.001 me/0
B[y 7 mom 2 & v - - - - 0. 001 - - - - - - - 0.001 mg/@
wi v s e e 2 sy - - - - 0. 001 - - - - - - - 0.001 mg/0
8|FV 7= F Ly - - - - 0.001 - - - - - - - 0.001 mg/0
19[~ v + v - - - - 0.001 - - - - - - - 0.001 mg/0
204 # 2| - 0. 060 - - 0. 060 - - 0. 06 - - 0. 060 - 0.060 mg/0
217 = om oW B - 0. 002 - - 0. 002 - - 0. 002 - - 0. 002 - 0.002 mg/0
27 v o= Kk A 4 - 0. 004 - - 0.017 - - 0. 023 - - 0. 009 - 0.013 mg/0
28ly v = B oW B - 0. 003 - - 0. 002 - - 0. 002 - - 0. 005 - 0.003 mg/0
oalv © 7 T wE e gy - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 - 0.001 mg/0
25[5 # 2| - 0. 001 - - 0. 001 - - 0. 001 - - 0. 001 - 0.001 mg/0
2l by o w gy - 0. 006 - - 0. 021 - - 0. 028 - - 0.012 - 0.017 mg/0
27k v 2 omom e R - 0. 003 - - 0. 009 - - 0.017 - - 0. 008 - 0.009 mg/0
287 e x vy yww x oy - 0. 002 - - 0. 004 - - 0. 005 - - 0. 003 - 0.004 mg/0
297 = = ok A & - 0. 001 - - 0.001 - - 0. 001 - - 0. 001 - 0.001 mg/0
0|k v & T L F e K - 0. 004 - - 0. 004 - - 0. 004 - - 0. 004 - 0.004 mg/0
1fHE $n R ' o L AW - - - - 0.01 - - - - - - - 0.01 mg/0
2l rizyak 0 E O AED - 0.014 - - 0. 026 - - 0. 022 - - 0.010 - 0.018 mg/0
KX 3 BN R (A 7] - 0.12 - - 0.15 - - 0.03 - - 0. 02 - 0.08 me/0
3l K z oL A& B - - - - 0. 008 - - - - - - - 0.008 mg/0
BIF IR BZ DL a ! - - - - 7.02 - - - - - - - 7.02 me/0
36lvvh VR E OB - - - - 0. 002 - - - - - - - 0.002 mg/0
7l b w4 A v 1.8 1.1 10.0 8.4 9.4 10.6 9.6 8.6 7.7 7.8 7.9 7.6 9.2 mg/0
38[nvy oL sy (REEE) - - - - 35.2 - - - - - - - 35.2 mg/0
9fE ¥ O ® ®B ® - - - - 73 - - - - - - - 73 mg/0
Q0| 4 A v R M A - - - - 0.02 - - - - - - - 0.02 mg/0
aly = o4 o2 vy - - -| 0.000001| 0.000001] 0.000001| 0.000001 - - - - - 0.000001 me/0
ale-r sty xvat-w - - -| 0.000001| 0.000001] 0.000001| 0.000001 - - - - - 0.000001 me/0
43|19k 4 A v RO A - 0. 005 - - 0. 005 - - 0. 005 - - 0. 005 - 0.005 mg/0
wulz = s - o oHE - - - - 0. 0005 - - - - - - - 0.0005 me/0
45(4 1 w & 0.8 0.6 0.7 0.7 0.8 1.0 1.0 1.2 11 0.9 0.9 0.7 0.9 mg/0
46 PHIE 7.3 7.4 7.5 7.5 7.6 7.5 7.5 7.5 7.5 7.3 7.3 7.4 7.4
47 S WLl BEaL| RElL| BEEAL[ BEARL| BEAeL| BEaL| BEAeL] BEWiaL| BEAL] BEleL| BEaLl BEsL
485 RAlORERL[ REARL[ REEAL[ REAL| BWAeL| RBEAeL| ®EeL| REAeL| REeL| REAL|] REARL|] REARL| REARL
49 ¢ i3 0 0 0 0 0 1 0 0 0 0 0 0 0 JE
50| i3 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 Jig
7% o i # 0.47 0.49 0.45 0. 46 0.25 0.18 0.17 0.31 0.30 0.46 0.45 0.46 0.37 mg/0
X DEGIIE
5 & Ul BEaL| REARL|] BEEaLl RBEAL| REARL| BEaU| BEAL] BWiU| BEAL| RELL|] BEAaLl BEALL
;ﬁ Y B U| BEaL| REAL|] BEEaLl BEAL| BEARL| BEaL| BEAL] BWieU| BEAL| RELL| BEAaLl BEALL
B ko e R 0.48 0.50 0.45 0. 44 0.21 0. 24 0.23 0.34 0.38 0.46 0.45 0.46 0.39 mg/0




